APPLICATION FOR PARTIAL PAYMENT OF CONTRACT

| | Project Title: | : | | Northwes | st Booster Station | | | |
|--|--|-------------------------------|----------------------------|---|-----------------------------|--------------|--------------------------|--|
| eity of | Contractor: | | | C.L. Carroll Co., Inc. | | | | |
| Ankeny | Address: | | 3623 6 | 8th Avenue, Des Moines, IA 50313 | | | | |
| A THIRCH Y | Finance Bud | laet Code | | AND | Finance Projec | | 616.4450 | |
| W. 10 E 10 | Vendor Proje | | | | | D # | | |
| | Original Con | | The second reserve | 19. 2018 | | | 3584 | |
| | Original Con | itract Dat | e. Tobradiy | , | | | | |
| | F 1 | - 1 0010 | | | PAYMENT RE | OHES | ST # 10 | |
| Date of Council Meeting: | | ry 4, 2019 | | noomhor | 27, 2018 Through | | January 25, 2019 | |
| | PAYN | MENT PER | RIOD: From: De | ecember | 27, 2016 Tillous | Jii | January 20, 2010 | |
| 0. /. / 0 | | | | | | | | |
| Contract Summary | | · · | 2 272 761 00 | | | | | |
| Original Contract Amount: | | Φ | 2,273,761.00 | Ň | | | | |
| Net change by Change Order | | | 57,023.10 | | 0 220 704 10 | | | |
| Contract Amount to Date: (line | 1 ± 2) | | | \$ | 2,330,784.10 | 6 | | |
| Tatal completed and stored to | a data: | \$ | 2,191,158.95 | | | | | |
| Total completed and stored to | pleted Work: | \$ | 109,557.95 | ₹8 | | | | |
| | | Ψ | 100,007100 | \$ | 2,081,601.00 | | | |
| Total Earned less Retainage: | | | | \$ | 2,007,360.35 | Ĭ. | | |
| Less previous applications for | r payment: | | | Ψ | 2,007,000.00 | \$ | 74,240.65 | |
| SUBTOTAL | | | | | | Ψ | 1.1,2.1.1.1 | |
| OTUED CHADGES (Attach on | itamized list\ | | | | | \$ | - | |
| OTHER CHARGES (Attach an | nemized list) | | | | | | | |
| CURRENT PAYMENT DUE | | | | | | \$ | 74,240.65 | |
| CONNENT PATMENT BOL | | | | | | | | |
| Balance to finish, including re | tainage. | | % : | \$ | 249,183.10 | | | |
| Dalance to linion, including re | italiago. | | | | | 8 | | |
| Contract Time Remaining (If applicable) - Working Days | | | | | | | | |
| | | | | - | | | | |
| The undersigned Contractor certifies that in accordance with the Contract Documen | to the best of the Cor | ntractor's know | vledge, information and be | elief the work | covered by this Application | on for Pay | yment has been completed | |
| in accordance with the Contract Documen payments received from the Owner, and the | its, that all the amour hat current payment | nts nave been shown herein | is now due. | WOLK TOL WILL | cii previous certificate(s) | ioi i ayiii | and word isosoo and | |
| Construction Contractor Appl | roval: | | | C.L. Carr | oll Co., Inc. | | | |
| | Firm Nar | me | | | | | 1/20/10 | |
| 21/2 | \mathcal{J} | | | | | Date | 1/28/19 | |
| Signature | | | | | l Kimm Inc | Date | | |
| Engineer / Consultant Approv | Val: Firm Na | me | V | eenstra o | k Kimm, Inc. | | | |
| () = + | 1 | | 0 | | | i - | -28-2019 | |
| Signature | 0000 | | | | | Date | | |
| City of Ankeny Staff Approva | ıl: | | | | | | | |
| () By ()0. 1 | | | | | | 1- | -28-19 | |
| Signature | | | | | | Date | | |
| Signature | | | | | | | | |
| | 279 2 | <u> </u> | - 614 | One 11 | violand I WW De- | | nt | |
| Submit to: | na prace a management | | of Municipal Utilit | (515) 96 | | artme ax: | (515) 963-3535 | |
| E-mail: DClark@ | @Ankenylowa. | gov | Phone: | (010) 90 | 0-0028 F | ах. — | (070) 900-0000 | |

APPLICATION FOR PARTIAL PAYMENT OF CONTRACT

CONTRACT PRICE DETAIL

| | CONTRACT PRICE DETAIL | | | | | | | | | | 7 |
|----------|---|----------|-----------------|------------|-----------------|----------------------|---|----------|-----------------|-------------------|------------------|
| ITCA | DESCRIPTION | | ORIGINAL | QUANTITY | TOTAL | | riante de la companya | QUANTITY | VALUE OF | REMAINING | PERCENT |
| NO. | Section 2019 Section | UNITS | PROPOSED | (BY CHANGE | QUANTITY | UNIT PRICE | EXTENDED PRICE | COMPLETE | COMPLETED WORK | | COMPLETE |
| 11.01 | (Include Change Order # if Applicable) | | QUANTITY | ORDER) | USB ZAMISAME DI | | | | | | |
| Ę | Teeffe Cantral | LS | 1.00 | - | 1.00 | \$ 3,000.00 | \$ 3,000.00 | 0.75 | \$ 2,250.00 | 0.25 | 75.00% |
| 2 | Traffic Control Booster Station | LS | 1.00 | - | 1.00 | \$ 1,887,915.00 | \$ 1,887,915.00 | 0.75 | \$ 1,799,202.85 | 0.25 | 95.30% |
| 3 | Water Main Trenched - 24" | LF | 1,389.00 | | 1,389.00 | \$ 80.00 | \$ 111,120.00 | 1,389.00 | \$ 111,120.00 | - | 100.00% |
| 4 | Water Main Trenched - 12" | LF | 10.00 | - | 10.00 | \$ 122.00 | \$ 1,220.00 | 87.00 | \$ 10,614.00 | (77.00) | |
| 5 | Water Main Trenchless - 24" DI | LF | 214.00 | - | 214.00 | \$ 261.00 | \$ 55,854.00 | 240.00 | \$ 62,640.00 | (26.00) | |
| | Hydrant Assembly | EA | 1.00 | 142 | 1.00 | \$ 5,865.00 | \$ 5,865.00 | 1.00 | \$ 5,865.00 | - | 100.00% |
| 7 | Restrained Carp - 24" | EA | 3.00 | - | 3.00 | \$ 1,110.00 | \$ 3,330.00 | 2.00 | \$ 2,220.00 | 1.00 | 66.67% |
| 8 | Restrained Tee - 24" | EA | 2.00 | - | 2.00 | \$ 2,365.00 | \$ 4,730.00 | 2.00 | \$ 4,730.00 | <u> Б</u> | 100.00% |
| 9 | Restrained Tee - 24" x 12" | EA | 1.00 | 2 | 1.00 | \$ 1,885.00 | \$ 1,885.00 | 2.00 | \$ 3,770.00 | (1.00) | 200.00% |
| 10 | Restrained Tee - 12" | EA | 1.00 | - | 1.00 | \$ 1,250.00 | \$ 1,250.00 | 1.00 | \$ 1,250.00 | | 100.00% |
| 11 | Restrained Reducer - 24" x 12" | EA | 1.00 | :=: | 1.00 | \$ 1,255.00 | \$ 1,255.00 | 4 | \$ - | 1.00 | 0.00% |
| 12 | Reducer - 12" x 6" | EA | 1.00 | - | 1.00 | \$ 545.00 | \$ 545.00 | 1.00 | \$ 545.00 | - | 100.00% |
| 13 | Gate Valve Restrained - 24" | EA | 3.00 | | 3.00 | \$18,250.00 | \$ 54,750.00 | 3.00 | \$ 54,750.00 | - | 100.00% |
| 14 | Gate Valve Restrained - 12" | EA | 1.00 | (2) | 1.00 | \$ 2,395.00 | \$ 2,395.00 | 2.00 | \$ 4,790.00 | (1.00) | 200.00% |
| 15 | Relocate Hydrant Assembly | EA | 1.00 | 140 | 1.00 | \$ 1,050.00 | \$ 1,050.00 | 1.00 | \$ 1,050.00 | - | 100.00% |
| 16 | Bend Restrained - 90 Degree - 24" | EA | 3.00 | 90 | 3.00 | \$ 2,085.00 | \$ 6,255.00 | 3.00 | \$ 6,255.00 | - | 100.00% |
| 17 | Bend Restrained - 45 Degree - 24" | EA | 4.00 | - | 4.00 | \$ 1,805.00 | \$ 7,220.00 | 4.00 | \$ 7,220.00 | S 90 | 100.00% |
| 18 | Gravity Sewer Trenched - 8" PVC | LF | 80.00 | - | 80.00 | \$ 67.00 | \$ 5,360.00 | 80.00 | \$ 5,360.00 | - | 100.00% |
| 19 | Sanitary Manhole - Type SW-301 - 48" | EA | 1.00 | (#X) | 1.00 | \$ 3,440.00 | \$ 3,440.00 | 1.00 | \$ 3,440.00 | - | 100.00% |
| 20 | Storm Sewer Trenched - 15" PVC | LF | 35.00 | | 35.00 | \$ 42.00 | \$ 1,470.00 | 64.00 | \$ 2,688.00 | (29.00) | |
| 21 | Storm Sewer Trenched - 15" RCP | LF | 67.00 | - | 67.00 | \$ 52.00 | \$ 3,484.00 | 67.00 | \$ 3,484.00 | 4 | 100.00% |
| 22 | Flared End Section - 15" RCP | EA | 2,00 | - | 2.00 | | \$ 4,030.00 | 2.00 | \$ 4,030.00 | - | 100.00% |
| 23 | Nyloplast Basin - 24" | EA | 1.00 | 15.1 | 1.00 | \$ 2,000.00 | \$ 2,000.00 | 1.00 | \$ 2,000.00 | - + | 100.00% |
| 24 | Storm Sewer Manhole - Typle SW-401 | EA | 1.00 | - | 1.00 | | \$ 3,376.00 | 1.00 | \$ 3,376.00 | - | 100.00% |
| 25 | Intakes - Type SW-501 | EA | 2.00 | - | 2.00 | \$ 2,550.00 | \$ 5,100.00 | 2.00 | \$ 5,100.00 | | 100.00% |
| 26 | Rip Rap | Ton | 20.00 | - | 20.00 | | | 20.00 | \$ 1,370.00 | | 100.00% |
| | 3" Conduit | LF | 1,085.00 | | 1,085.00 | \$ 9.20 | \$ 9,982.00 | 1,085.00 | \$ 9,982.00 | 2.00 | 100.00% 0.00% |
| | Handholes - Type 3 | EA | 3,00 | - | 3.00 | \$ 1,765.00 | \$ 5,295.00 | | \$ - | 3.00 | |
| | 8" PCC Pavement - Remove & Replace | SY | 80.00 | - | 80.00 | \$ 105.00 | \$ 8,400.00 | | \$ - | 80.00 | 0.00% |
| | 8" PCC Driveway | SY | 420.00 | | 420.00 | \$ 54.00 \$ 45.00 | \$ 22,680.00 \$ 8,550.00 | | \$ - \$ - | 420.00 190.00 | 0.00% |
| | 5" PCC Sidewalk | SY | 190.00 72.00 | - | 190.00 | | | | \$ - | 72.00 | 0.00% |
| | 6" PCC Sidewalk Detectable Warning Pads - Cast Iron | SY SF | 32.00 | | 72.00 32.00 | | \$ 3,456.00 \$ 1,440.00 | | \$ - | 32.00 | 0.00% |
| | | LS | 1.00 | | 1.00 | | \$ 6,000.00 | 0.50 | \$ 3,000.00 | 0.50 | 50.00% |
| 34 35 | SWPP Management Silt Fence | LF | 1,860.00 | - | 1,860.00 | | \$ 3,720.00 | 1,000.00 | \$ 2,000.00 | 860.00 | 53.76% |
| 36 | Stabilized Construction Entrance | LS | 1.00 | | 1.00 | | \$ 1,500.00 | 0.50 | \$ 750.00 | 0.50 | 50.00% |
| 37 | Concrete Washout Containment | LS | 1.00 | | 1.00 | | \$ 1,500.00 | 0.80 | \$ 1,200.00 | 0.20 | 80.00% |
| | Filter Sock | LF | 150.00 | - | 150.00 | | \$ 300.00 | 217.00 | \$ 434.00 | (67.00) | |
| 39 | Seeding, Fertilizing, & Mulch (Type 1 Seed) | Acre | 2.30 | | 2.30 | \$ 3,000.00 | \$ 6,900.00 | - | \$ - | 2.30 | 0.00% |
| | Removal - Granular Driveway | SY | 40.00 | - | 40.00 | \$ 4.75 | \$ 190.00 | - | \$ - | 40.00 | 0.00% |
| | Compaction Testing | LS | 1.00 | | 1.00 | | \$ 3,500.00 | 0.90 | \$ 3,150.00 | 0.10 | 90.00% |
| 42 | PCC Pavement Sample & Tesing | LS | 1.00 | - 2 | 1.00 | | \$ 2,000.00 | - | \$ | 1.00 | 0.00% |
| | Modified Subbase (Crushed Stone) | SY | 482.00 | - | 482.00 | | \$ 4,579.00 | 3.5 | \$ - | 482.00 | 0.00% |
| 44 | Clearing & Grubbing | LS | 1.00 | - | 1.00 | \$ 4,500.00 | \$ 4,500.00 | 1.00 | \$ 4,500.00 | | 100.00% |
| 45 | , | | | | | | \$ - | | \$ - | - | 0.00% |
| 46 | | | | | 1,00 | | \$ - | | \$ - | 3 | 0.00% |
| 47 | | | | | 5070 | | \$ - | | \$ - | į. | 0.00% |
| 48 | | | | | - | | \$ - | | \$ - | - | 0.00% |
| 49 | | | | | | | \$ - | | \$ - | = | 0.00% |
| 50 | | | | | 121 | | \$ - | | \$ - | | 0.00% |
| 51 | | | | | - | | \$ - | | \$ - | | 0.00% |
| 52 | | | | | | | \$ - | | \$ - | | 0.00% |
| 53 | | | | | | | \$ - | | \$ - | | 0.00% |
| 54 | | | | | - | | \$ - | | \$ - | - | 0.00% |
| 55 | | | | | | | \$ - | | \$ - | e | 0.00% |
| 56 | | | | | | | \$ - | | \$ - | | 0.00% |
| 57 | | | | | | | \$ - | | \$ - | - | 0.00% |
| 58 | | | | | 1+1 | | \$ - | | \$ - | (* | 0.00% |
| 59 | | | | | 17 | | \$ - | | \$ - | - | 0.00% |
| 60 | | | | | - 4 | | \$ - | | \$ - | - | 0.00% |
| 61 | | | | | (=) | | \$ - | | \$ - | - 13 ⁻ | 0.00% |
| 62 | | | | | - | | \$ - | | \$ - | | 0.00% |
| 63 | | | | | - | | \$ - | | \$ - | 14 | 0.00% |
| 64 | | | | | | | \$ - | | \$ - | A#1 | 0.00% |
| 65 | | | | | - | | \$ - | | \$ - | | 0.00% |
| 66 | | | | | - | | \$ - | | \$ - | - | 0.00% |
| 67 | | | | | - | | \$ - | | \$ - \$ - | (- | 0.00% |
| 68 | | | | | | | \$ - \$ - | | | - | 0.00% |
| 69 | | | | | - | | \$ - \$ - | | \$ - | - | 0.00% |
| 70 | | | | | - | | \$ - | | \$ - | | 0.00% |
| 71 | | | | | | | \$ - | | \$ - | - | 0.00% |
| 72 73 | | | | | - | | \$ - | | \$ - | - | 0.00% |
| 74 | | | | | - | | \$ - | | \$ - | | 0.00% |
| 75 | | | | | | | \$ - | | \$ - | | 0.00% |
| 10 | Manager 1 | | | | | | <u> </u> | | | - | |

TOTAL CONTRACT AND VALUE OF WORK COMPLETED TO DATE

\$ 2,273,761.00

\$ 2,134,135.85

-6.14%

APPLICATION FOR PARTIAL PAYMENT OF CONTRACT

| Previous Applications for Payme | men | Pay | or I | for | ions | plicat | Api | revious | Pr |
|---------------------------------|-----|-----|------|-----|------|--------|-----|---------|----|
|---------------------------------|-----|-----|------|-----|------|--------|-----|---------|----|

| No. | Date | Amount |
|-----|------|--------|
| 1 | | |
| 2 3 | | |
| 3 | | |
| | | |
| 5 6 | | |
| | | |
| 7 | | |
| 8 | | |
| 9 | | |
| 10 | | |
| 11 | | |
| 12 | | |
| 13 | | |
| 14 | | |
| 15 | | |
| 16 | | |
| 17 | | |
| 18 | | |
| 19 | | |
| 20 | | |
| 21 | | |
| 22 | | |
| 23 | | |
| 24 | | |
| 25 | | |
| 26 | | |
| 27 | | |
| 28 | | |
| 29 | | |
| 30 | | |
| 31 | | |
| 32 | | |
| 33 | | 7 |
| 34 | | 1 |
| 35 | | |
| | | |

Previous Applications for Payment

| No. | Date | Amount |
|-----|--|---------------|
| 36 | May 7, 2018 | \$ 61,545.56 |
| 37 | June 4, 2018 | \$ 106,711.60 |
| 38 | July 2, 2018 | \$ 202,008.13 |
| 39 | August 6, 2018 | \$ 336,647.30 |
| 40 | September 3, 2018 | \$ 359,064.85 |
| 41 | October 1, 2018 | \$ 279,775.46 |
| 42 | November 5, 2018 | \$ 422,774.04 |
| 43 | November 5, 2018 December 3, 2018 | \$ 171,404.60 |
| 44 | January 7, 2019 | \$ 67,428.81 |
| 45 | | |
| 46 | | |
| 47 | | |
| 48 | | |
| 49 | | |
| 50 | | |
| 51 | | |
| 52 | | |
| 53 | | |
| 54 | | |
| 55 | | |
| 56 | | |
| 57 | | |
| 58 | | |
| 59 | | |
| 60 | | |
| 61 | | |
| 62 | | |
| 63 | | |
| 64 | | |
| 65 | | |
| 66 | | |
| 67 | | |
| 68 | | |
| 69 | - WANA STATE OF THE STATE OF TH | |
| 70 | | |

Record of Change Orders

| No. | Date | Amount |
|-----------------------|------------------|------------------------------|
| 1 | August 6, 2018 | \$ 22,701.10 |
| 2 | November 5, 2018 | \$ 22,701.10 \$ 13,660.00 |
| 3 | November 5, 2018 | \$ 6,096.00 |
| 2 3 4 5 6 | December 3, 2018 | \$ 14,566.00 |
| 5 | | - |
| 6 | | |
| 7 | | |
| 8 | | |
| 9 | | |
| 10 | | |
| 11 | | |
| 12 | | |
| 13 | | 1 |
| 14 | | |
| 15 | | |
| 16 | | |
| 17 | | |
| 18 | | |
| 19 | | |
| 20 | | |
| 21 | | |
| 22 | | |
| 23 | | |
| 24 | | |
| 25 | | |

| Contract Time Boundains | |
|--|------------------|
| Contract Time Remaining Contract Period: | Working Days |
| Original Contract Date: | February 1, 2018 |
| Original Contract Time: | |
| Added by Change Order: | |
| Contract Time to Date: | |
| Time Used to Date: | |
| Contract Time Remaining: | |

TOTAL

\$ 57,023.10

TOTAL \$ 2,007,360.35

Don Clark

From:

Vince Driscoll <vdriscoll@v-k.net>

Sent:

Monday, January 28, 2019 2:56 PM

To:

Don Clark

Subject:

RE: NW Booster Station - Pay Application No 10

Don,

While I was talking to our inspector about quantities, he mentioned that things seemed to be moving along quite well. As of now, the project is about 94% done, and the remaining items are mostly for this spring's season.

I will have C.L. Carroll send me an updated schedule so we can confirm that they are on/ahead of schedule.

Let me know if there is anything else I can do.

Thank you,

Vince

Vince Driscoll

VEENSTRA & KIMM, INC.

3000 Westown Parkway

West Des Moines, Iowa 50266-1320

Office: (515) 225-8000

From: Don Clark [mailto:DClark@Ankenylowa.gov]

Sent: Monday, January 28, 2019 2:51 PM To: Vince Driscoll <vdriscoll@v-k.net>

Subject: RE: NW Booster Station - Pay Application No 10

Vince,

I will get this processed. Have you heard anything as far as C.L. Carroll's schedule? In other words things progressing as they thought, ahead, or behind on schedule?

Don Clark, PE | Director of Municipal Utilities

City of Ankeny

From: Vince Driscoll [mailto:vdriscoll@v-k.net]
Sent: Monday, January 28, 2019 2:42 PM
To: Don Clark < DClark@Ankenylowa.gov>

Subject: NW Booster Station - Pay Application No 10

Don,

Attached please find Pay Application No. 10 for the project. We are recommending payment by the City Council to C.L. Carroll Co., Inc. in the amount of \$74,240.65.

Please execute and return one copy to Veenstra & Kimm, Inc., forward one copy to C.L. Carrol Co., Inc. with payment and retain one copy for your file.

Let us know if there are any questions, comments or concerns.

Thank you,

Vince **Driscoll**

VEENSTRA & KIMM, INC.

3000 Westown Parkway West Des Moines, Iowa 50266-1320

Office: (515) 225-8000